HSSC CET Group D Question Paper 21 Oct 2023 1st Shift
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() e asE

(4) R o Yew

() ST T & 9wy

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?
(1) 1930

(2) 1950
(3) 1947
4) 1951

(5) Not Attempted

As per Census 2011, the literacy rate in Indig
is :

(l)' 73.0

(2) 78.0
(3) 88.0
(4) 83.0

(5)  Not Attempted

What is the radius of the earth ?

(1) 6371 km
(2) 8371 km
(3) 9371 km
(4) 2371 km

(5] Not Attempted

Who is the author of the book - ‘A History of
British Indjg’ ?

(1) James Mill

(2) Warren HaStings

(3)  Lord Mountbatten

(4) LO!‘d CUI'ZOn

(5)  Not Attempteq

Who Served as free India’s first Governor-
Genera] ? ,

(1)

C. Rajagopalachari

() Sardar Vallabhbhai Patel
) Maulana Azag

(4) Jawahar Lal Nehru

(5)  Not Attempted
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7. CEITHET: 7. CR': ,
. . efers to :
(1) E'VIE' A% 35 (1)  Coastof Egypt
(2) SPHAITERe (2)  Common Estimate
(3) AT (3) Common Era
@) FsTEy (4) Casual Era
(5) ST I = (5)  Not Attempted
=4 s . . . : 8. ‘Mission Indradhanush’; launched i
8. 2014 ¥ WY g st dremw’ o vk - 2014 is : R
(1) iami'i[ﬁ:ﬁﬁﬁfﬁﬁﬁ @ﬁm@?ﬁﬁ (1)  To provide information, commodities
%@W, T 991 aTd Y| S| and service to meet the diverse need of
) etk Sy N 3-‘1%3 adolescents.
%WTFEH lm[. THTeRTT S (2) To cover children who have been
' T2 U o= hl FiAlea ) partially or not vaccinated during
3) T S ) fe 3 o T l‘{?‘fw routine immunisation rounds. -
WWWI (3) To provide affordable and quality
) ) healthcare to the rural population.
(4) L I:,g-fll amllﬁf;ﬂ&'ﬂ AT ST | (4) To provide education to the deprived
(6) 3B aTed | children.
% (5)  Not Attempted
9. fova TataRor fead wman < § -
(1) 551 9. World Environment Day is celebrated on :
1) 5t June
@ 7 :
; (2) 7% June
82 (3) 5t July
(4) 7 IR @) 7th July
(5) SR TR <A | (5) Not Attempted
10. gt &% IR IR feod wd I HEd € : 10. The earth is surrounded by a layer of gases
(1) =F called :
() R (1) Ozone
: (2) Environment
(3) argHSA (3) Atmosphere
(4) Glﬁlaﬁlﬂ.%‘m (4) Climate »
) ™ =ITed | (5) Not Attempte
-l I me ?
11. 91 (MAA) FredeH 1 oA w0 T? 11. What is the full form of MAA’ progra
(1) W= Ul @R (e TERIE STHAT) . (1) Mother’s Absolute lzifte‘::;
) . " A ) Jute Atte
(2) I &l ngl & ( ) (2) MOtlger ::: T:dolescent dolescent
. I ther ole
@) T R (R TS SETTe) . (3) Mo irual hygiene AmO"E A
@) e 3 e ot s e (g B e
%T;T‘ﬁ:[ a‘ﬁn a@aﬁ? T[F\Ei) . (5) Not Atten’lpted page 3
3 | ORK
(5) wqﬁ"f%ﬂmﬂ E FOR ROUGHW
= amf%%g'&’ﬂﬁlSPAc _
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12. ‘g’ Frefafen 3 & froe w w9 3, il o
H g1 S 8 ? '
(1 we
(2) 39
(3) M
(4) S
(5) S Tl o e |
13. e sEentien fovafamama el safter § 2
(1) 3Firg
(2) M
3) fooeit
@4) TS
(5) I TRl o =red |
14. Trefafed 8 ¥ SH-91 FEiH g4 T wafis
foanert ¥ Y fren e fo@e Sfqia =il hl T
TN IS Y ek Sima § 2
(1) wfeen wHmrE
(2) O HISH
(3) < e, S Tereh
(4) Td fen AfEmE
(5) SR TE <A =R |
15. ‘dfig’ ve 9Ra % fohg To H HATE Sl § 2
(1) s
(2) TE
(3) SHIM
4) 39H
(5) S AR o @ |
16. 3fe foret safad ol ok HTH BT 9 FL <, ° SHh

<o 1 T 99 5N e 64 ST &, 3791 98
SHferd T8t @ Geral | Ie Uishal Seadl © :

12.

13.

14.

15.

16.

Lugda’ is a kind of which one of the following
that is worn in Chhattisgarh ?

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) Not Attempted
Where is Jamia [slamia University situated ;
(1) Aligarh

(2) Bhopal

(3) Delhi

(4)  Lucknow

(5) Not Attempted

Which one of the following refers to the
programme introduced in all government
elementary schools to provide children with

cooked lunch ?

(1) Mabhila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(5) Not Attempted

If a person’s kidney stops working. Th
cannojc s1_1rvive unless their blood is filter
by artificial kidney. This process is called

((21)) AT (1) Excretion
o) m B (2) Dialysis
" (3) Transpiration
(4) T:IIEFRF[ (4) Elimination
(5) W& < =R | (5) Not Attempted
VNATH/G1 I BTt 3 foTw Tamer / SPACE FOR ROUGH WORK ~pat
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17. Fefafag g -
\ I Wrehrrary g
(1) o T2 170 whie
hl‘(,h of the followmp is
2) TEY habitat not g terrestria]
3) aui=m (1) Pong
4) IEFAH (2) Desert
(5) I TEH T ey ) Rainforest
' (4) Grassland
(5)  Not Attempt d
18. FSI il TH.STE, s w ) pte
(1) uMm 18. The SI unit of mass ig -
2) e (1)  gram
3) URs (2)  kilogram
(4) ST=H (3)  pound
(6) ST &= Wi Pl
(5)  Not Attempted
19. T TISH T SO H U= WA 1 gl Wae .
T U iR ufgfeas ¥ o9 frad @ T2 19. Aboy is staqding at a distance of 50 cm from
. the plane mirror. What will be the distance
(1) 100 93T between the mirror and the image ?
2) 25 FaHR (1) 100 cm
(3) 50 FAHR 2) 25cm
(4) 75 AR () 50cm
4) 75cm
(5) IR el 1 = | (
(5) Not Attempted
20. 1 gfewar § oA & S 7g fRet
e HT ATFIIRT T8l ol o | 20. No medium is required for transfer of heat by
i AT the process of
(1) fafewz (1) Radiation
(2) EeT (2) Conduction
(3) Haed (3) Convection
(4) oS (4) Transpiration
(5) IR TE &A1 e | (5) Not Attempted
21. qdl fe 9 g et e 21. and are water borne
¥ diseases.
1 2EhISS i Af=Efed (1)  Typhoid and Meningitis
(1) s o o s A (2)  Beri-Beri and Dysentery
(2) a’ﬂ—ﬁf{m (3) Scurvy and Cholera
. ©) S&l W@ (4)  Polio and Rickets
4) diferar &A1 : (5) Not Attempted
=1ed | Page 5
(6) S FOR ROUGH WORK
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22. Match the following : -
(1 (Im) (1] N 0 Weak stem
(&) R () AR (A) Lamina m ovary
B) g I siewm B P fta.l au) Leaf
(@] EIGoreny (1) T (©) Pistil ) Flower
(D) ot @ (D) Creeper
(v) ™ -(1)
_av), (©-m), ®)
(1) (A)-(, (B)-v), (©)-(1), (D)-() ) (AH?’ gﬁl,) -, ©-V)
@ (), B)-(1), (O)-(), ()-V) @ W o, c)-am, (00
@ (A)-aV), (B)-, (©)-m), (D)-0) O, (©-0v) -0
(4)  (A)-(10), (B)-(1D), (O)-(1V), (D)-{1) @ @-m, B0
(5) I L I = | (5) Not Attempted
' . causes beri-ber
23 F T F RO G- Ei %1 | 23. Deficiency of _ —
) disease.
(1) fofEra (1) Vitamin A
(@ feamiBl (2) Vitamin Bl
3) forrfe C (3) Vitamin C
(4) foIFAD (4) Vitamin D
(5) ST A A | (5) Not Attempted
24. freafefan & 3 @i & woct ot FadTt et &2 24. Which of the following is not the characteristi
(1) Tfiger (A7) T Surefd of fish ?
(2) fircT #t 3Igfrerfd (1) Presence of fins
(3) ot g T 31 SRR IR (2)  Presence of gills
(@) TR F " A ) g § R R 1 @ (3) Long backbone with cylindrical body
HFR BT (4) Head and tail smaller than the midd
T & R portion of the body.
G W ' (5) Not Attempted
25, | Ve W WA A 25. Hepatitis ‘A’ is caused by :
(1) I (1) Bacteria -
(2) fommg (2) Virus
(8) hdh (3) Fungi
(4) QRIS (4)  Protozoa
(5) SR &l 1 9ed | (5) Not Attempted
VNATH/G1 I BT 3 foIu F41e / SPACE FOR ROUGH WORK e
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26. UFEATW_ Jvemeon # 26. Earthworms breathe through their
(1) el (1) Lungs
(2) vaEAfeEl (2) Tracheae
(3) TTwS (3) Gil}s
(4) (‘5” ikm
(5) I TR T =R | ) ot Attempted
27. Trafafaa ® T fegs IAEA H A 1 gam fean 27. ;lle)ast issulglzt;d in the production of :
Sl g ?
i S (2)  Oxygen
() . (3)  Alcohol
(2) T (4) Hydrochloric Acid
(3)  3eehiEd (5) Not Attempted
(4) TR A
(5) W el <1 =red | 28. Intheyear 2016, the Government of India has
initiated a mission called under
28. T4 2016 § 9RA THN 3 T e ;th:rctgda proper Sewage disposal have been
(1)  Ujwala
& foran T B @) Udsan
(1) Ssida (3) Swachh Bharat
(2) SeH (4) Namami Gange
(3) = HRd (5) Not Attempted
@) TFwHEAET
(5) 3SW R é’ﬂ 'ﬂ'l%ﬁ | 29. Match electrical component given in
Column - I with the symbol given in
: i 5 . . Column - II:
29. wH- I;{fﬁﬁ TI? ﬁﬁgﬁ[ﬂﬁ FEN - AR Column -1 Column -1I
Nl . o : -1 (A)  Electric cell I e
wWH-1 .
(a) foga §a m A= (B) Switch in ON’ (1) @
B) ‘o' feufd ¥ fer= (1) @ position
(©) - Electric Bulb () ———
() fagd sea ()  —— (D) Battery W) —-
(D) A ) = Choose the correct option :
T forerew g (1) (A)-), (B)-), (O)-(u), (D)-(V)
(1) (A)-(), (B)-1), (C)-11), (D)-(IV) ) (A)-(, B)-0), (©)-1), (D)-(IV)
@  (A)-@), (B)-(), (C)-0), (D)-(V) @ (A)-av), B)-0, (©)-, O
@) (A)-1v), (B)-(), (C)-1D), (D)-(1) @ (A-QV), (B)-(m), (C)-1) (D)-(1)
@) (A)-(V), (B)-(I1D), (O)-I0), (D)-(0) 5) Not Attempted
bl UGH WORK Regey
CEFORRO
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30. g I € T T FHeem § el u1gali I | 30. The property of metals by which they can b
WWWWW?{ 2 beaten into thin sheets is called :
(1) < (1)  Conductivity
) gfafewa Al (2) Reactivity
@) 3 (3) Ductility
(4) Malleability
4)  FeiEm (5) Not Attempted
(5) ST <R |
. . 31. Five children A, B, C,D and E are standing in
31. U S A, B, C, D 91 E ST &l 3R Hg Hth Th a row, facing No.rth but not necessarily ingthe
i § w3 €, AT STevaes T © f o A A A lsafmefoi\derA ‘C’ ' to the right of ‘E’ and to the
o = o : I , ‘left o 1 )‘ €A an ‘D’ haVe one Child between
C’,‘E *?ﬁmaﬁ? A ";”'a'gaﬁ‘%' A’ SR D’ them. Who is in the middle of the row 7
fafEaae) R Ta T HAR? A E
g)) (E: 2 C
@ B G B
4 A 4 A
(5) SR o =Rd | (5)  Not Attempted
32. ﬁ%y@%wﬁmmﬁmw 32. A set of English letters is given below in a
#1 Hemeil % 39 T F T4 H R oTEn e Seleet, Hie. eombination: o
. } . mbers so that the letters arranged
STER it AR T T Th aq?jTﬁ T & | accordingly will form a meaningful word.
C P K T 0 E
1 2 3 4 5 6 g ? g g{ I 50 5
351,426 "“Oc"-/g (1) 3,51,4,2,6
(2) 2’ 1,5,3,6,4 ?DO\LW(,V’\ y Uy 4y Ty 4y
(3) 2’ 5, 1,3,6 4 Q OC/ Wv (2) 2, 17 5; 3: 6;4
’ R 3) 2,51,3,6,4
(4) 4,1,5,2,3’6 ’(0 y My Ly 9 Y,
(5) Not Attempted
3. WQ, REFFEH @ @), R A fr
ngl;lf %;Eﬁ # TE W Q, 33. If ‘Q’is brother of son of R’s son, then how is
Hi e - ‘Q’related to R’? ‘
1) T (1) Son
(2) =rET/HE (2) Uncle
(3) d= (3) Grandson
(4) = /T (#) ., Cousin
(5) W T & = e | (5) Not Attempted
VNATH/ G1 3G 1l 3 foTU ZITet / SPACE FOR ROUGH WORK Page
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34. AR W. ELR| 25 I F AR Y, A g T A | 34, I 25t of August in a year is Thursday, then
feRa= AT BiT 2 hOWt}r:l;my Tuesdays will be there ir; that
mon
(1) 3
@ 5 () =
@ 4 2 5
4 6 3) 4
(5) UL Rl oA =@ | 4) 6
(5)  Not Attempted
35. <IHYA SR 3H 915§ frend 1 R 11 feg e € | ey
T FUAI ! HA T g T8 F HE I aed 9
) 35. Two statements are given, followed b
gdr 3 . : ) y two
firt & 1 7 ' 2 &, ol s sA-a/a conclusions I and II. Assuming the
frepd foU T FYAT & TR T g B9 9 Feroran statements to be true even if they seem to be
g/ frperd 8 2 ‘ at variance from the commonly known facts,
decide which of the conclusions logically
T : follow/follows from the given statements.
gyt SIHe 3,—%{ 1 Statements :
g@ ﬁm%l AH animals are dOgS.
ey - Some dogs are dangerous.
. Conclusions:
L ot R T € |
, L All animals are dangerous.
I 9 A ITRE |
1I. Some dogs are animals.
(1) e frerd 1 feer €
s (1)  Only Conclusion I follows.
¥aa R 11 et g |
.(2) H (2) Only Conclusion II follows.
(3) U A € (3) Both Conclusions I and II follow.
(4) T feh B SR A &I €l 4) Neither Conclusion I nor II follows.
(5) 3BW T 3 = | (5) Not Attempted
36. fo@ g&R fereirHiiel 1 -g’af*q@'@l §, = v 36. Kilometer is related to Distance in the same
oo Haftd 272 way as Newton is related to :
(1) Ee| (1) Acceleration
Densit
(2 vEAH 2) ¥
@ ¥ 3 (3) Force
. 4) Momentum
4 wamd
) qﬁﬁ'vﬂ | (5) Not Attempted
(5) ua[sa SRk Page 9
0 p— ma;m-{aﬁ/ SPACE FOR ROUGHW
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37. R Jua 3T 9% W wife
11,12, 16,25,41, 72

37. Find the next term of the series :

11, 12, 16,26, 41, 2

(1) 65 (1 65
@) 72 (3) 69
72

(5) W S HE ‘)

(5) Not Attempted

38. fowm = ==\ wifww ;
38. Find the odd one out:

WSS (1) Ginger
@ e (2) Carrot
@) Sq (3) Potato
@) TR (4) Tomato
(5) S TE <N =R | (5) Not Attempted

39. dfc w ffY=d Few § ‘COVET %1 FRYHW’ | 39,

If in a certain code, ‘COVET’ is written a

foran v € @ S@ 9 ¥ HIDE’ &t foan FRYHW’ then how will HIDE’ be written in th
ST ? same language ?

(1) KLEF (1) KLEF

(2) KLGH (2) KLGH

(38) KLEI (3) KLEI

(4) KGEF (4)  KGEF

(5) W S IRA|

(5) Not Attempted

40. UF FAf IW fom § gz =% @ &1 9% amEd
fem 4 135° 7 S ®, 39F =R <fuomad fewm o

40. A man is facing North direction.

. . He tums
135%in anticlock-wise -

o o " : directj )
90° Y 11 &1 19 39 e forg famn 7 In the clock-wise directior:: “231’1???? enti90Lu
1s he facing now ? ) 9 i
(1) Fo-gd
(1)  North-East
2
@) FW ()  North
(3) Sw-ufeem (3) North-West
(4) fyEm (4)  West
(5) IO T <1 =R | (5) Not Attempted
VNATH/G1 %6 B & fe1u T2Irer / SPACE FOR ROUGH WORK T
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41. 17 TR WA T 700 1 S . Py .
. TR W, 5 M % v b i 41, Opn alling |7 Balla fae T 720, there s a loss

\

SRR '!’Tﬁ VTT'ﬂ % |, ‘ifr: ™1 b 1 1{1, o .} " oD val o the cnat price Af A halla l‘h(. crat
(1) Tas prive of one Hall ia
(2) T RO i ? 45
(3) T55 2y TS0
(4] TGO 3y TS5
(3) I &M oawd # te6o
(5) Not Attempted
42. TRA5-[28-137 (15~ x))=58 , A » %1 113
% . 42, if A5 — (,‘.Q —~ 7 -(15 - 8] =358, then the valus
of ¥is
(1) — 29
(1) =29
(2) - 19 D) o
- 19
(3) 19 v
3 | §¢
@) 29 €12
(4) 29

(5) ST TE o =ed |

(5) Not Attempted

43. AT B FEW: T 22,500 71T 35,000 FEAF, | 43. A and B started a business by mvestin

T AR T feman T 27,600 %ﬁaﬂﬁ B &1 T 22,500 and T 35,000 respectively. Out if a
ST % , total profit of T 27,600, B's share is

(1) 210,800

(1) 10,800
(2) 14,400

2) 214,400
(3) 216,800 (3) 16,800
(4) ¥19,200 (4) 19,200

(5) T AE N =ed | (5) Not Attempred

X 1 & =% x* + y2 ATy a4. |If & o l then the value of ‘,LL
44, uﬁ_=§€,mﬂmwﬁm. y 3 o
y —_—
- 10
T "
9
5
@) 5 2 3
. -5
-5 K
@
. N}
-5 @3
(4) i - 1o f £ Ll_;[c\.! /
3 (5) NotAweR page 1!
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A AN ST b TIhUI <h! TS AT Qhel SHAYT:

25 T .
o TN 168 ot Hex ¥ @ st ) el

(1) 124

(2) 17

(3) 24 T

(4) 31T

(5) W IR

L RO TS R e A T 12 o w5
T B S 2

54.

lI LI1C 1M~
m and 166 M~ IESPCClyg

rectangle are 25 :
then the longer Sl

(1)

12 m
17 m
24 m
31 m

Not Attempted

At what rate of simple interest will a sum
money doubles itself in 12 years ?

1
1 1) 8=%
(1) 8—% 0 4
4
1 2 8—1—7
@ 8<% @ 3"
3
3) 8L @) 8=%
2
ol
4 257 4) 9=%
(5) ST | (5) Not Attempted
55. 0] T el 1§ Thed F1 T g T €, SRl
2  SRIsd | 55. Arun bu :
X ys a pa
20% g fiyeT w1 &1 afe 391 T 1,600 Ul e A the discount gl?v; ?i 31832631? :ha - Whef
?; F-HT TRT 39 Theq &k TH S # siferd T pays isX 1,600, then whick.l of the ?IanL}.nto
59 . the marked price of th . e following
_ € pair of skates ?
(1) 1,280 (1) 1,280
2) 1,600 (2) 1,600
3) 1,920 (3) ¥1,920
4) 2,000 (4) 2,000
(5) TG o = | (5)  NotAttempted
ATH/G1 | ~ 31  feru el | SPACE FOR ROUGH WORK =
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the correctly spelt word
g6. Choose y 8] ord. 60. "

) humorus ” Pick out the part of the sentence which has an

(2) humorous error. If there is no error, vour nnswr“r is( (1%(

(3) humoros This is the third co Longt B il

(4) humarous A mmunication | have sent /

(5) Not Attempted and )

) — F’?!Y\ much surpriaed /
57. Choose the alternative which best expresses | (B

the given sentence in Passive Voice o at receivi ‘

The accountant took the cheque from the ————T18 N0 anawer .

customer. ’ (€)

is talen £ (n »

(1) The cheque is taken from the cust -

by the accountant. omer (2) (B
(2) The chequeé was taken from tha (3) (C)

customer by the accoun (4)  No error

tant.

(3) The customer was taken the cheque b (5)  Not Attempted

the accountant. g 61. Fill in the blank with bl

: » blank with suitable alternative

(4) The cheque had been taken from tt You wi _ ' tive.

customer by the accountant. h (1) ; ::llcr::(;)t itk st e

t Attempted )
() No ‘ pte (2)  walk quickly
58. In the following question, the first and the last (3) play

of the sentence are numbered S; & S, (4) reading
The rest of the sentence is split into four parts (5)  Not Attempted
and named P, Q, Rand S. These four

» . parts are . " - . z

jumbled. Re-arrange them in correct order. 62 Sh};oose the alternative winch best expresses
S, - Even today in many countries - meall'ung of the underlined idiorn.
P- neglected and there are far ey.so d their old house because it was
Q - women continue to be a white elephant .

R - who have had the benefit of (1) very large

S - fewer women than men (2) useless

Sg - education and vocation training (3) very comfortable

() PQRS (4) collapsing

20 QPSR (5) Not Attempted

(2) RQPS 63. Find out the antonym of frequent’.

(4) SQRP (1) rare

(5) Not Attempted (2) return

59. Change the following sentence into indirect (38) fear

speech. (4) alarm

Shakti said to his friend, “Look out! There is (5) NotAttempted

a snake behind you”. o : o :

() Shakti toid his friend to look out as 64. rmd out the!AS) no‘n)m of the underlined word

e ) in the following sentence.
there is a snake behind him. . N : :

(2) Shakti exclaimed to his friend with T'o travel hopefully is a better thing than to
surprise that there could be 2 snake arrive, and the true success is to labour.
behind him. _ ) . (1) rationally

() Seeing a snake pehind him, Shaku (2)  positively
asked his friend 10 l(_)ok out. . (3) negligence

4)  Shakti warned his'fnend that there was () carelessly
a snake behind him. (5) NotAttempted

Page 15
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65. Choose the correct alternative to improve the | 70. fau u fRg faehed o g/ Bl TS &9 T2
}mderlined part of the following sentence. If no (1) wafa a7 1o 1 JR e I ‘
improvement 1s‘ required, your m?swer is (4). Q) TEW S R R
Passengers are requested not to sit on the floor. 3) ) em g W E
(1)  to not sit @) g e
(2) tonot to sit (5) W T2 -;Fﬂ T |
(3) requested to sit )

(4) No Improvement 71. o e A e 9 9 9, 3 FEd € -
(5) Not Attempted (1) wHu
66.  PIT-T1 T Heltl Heh 1 SEE & ? g; %’5 ;
(1) ﬁﬁwwaﬁaﬁ%l (4) SETRE
(2) Wﬁﬁ‘ﬁﬂﬁr@ﬁmml (5) SO TR o AR |
(? el St 72. o form faeheq § o H Yo T2 ?
(5) W TE AR (2) @A
67. ‘39 9M H 1@ WA THI A T I@ifhd W H ) %
Haifye STge qaigare U § - *) ]
) . (5) ST TRl <A =R |
@ 73. 'Td IR G & o9 B gal’ & (e qaiiEs 3ugEd
T U= € -
B S (1 Tl
(4) @M (2) T
(5) SR E <A =R | (3) iR
4) TRE

68. ‘TF eI F AN @ S ol VR T € - (5) SR AR
(1) T® 74. ‘T1.+3TR0' F AN F T G FEUS ST U=
2) &R g -

@) (1) ::am
(2) STRM
(4 - @) frm
() ST <A (@ Fremn
69. ‘gﬁ@ﬁﬁm%@ﬁsﬁﬁﬁ'wmaﬁ (5) TR &R
gﬁZﬁW%Z 75. ;ﬁﬁmﬁm&hm’gmimwﬁwmw
- _
(1) ST AP - (1) s 3=
(2) FTET () i ohrd o
(3) geId o1 W (3) SR 1 Y S
(@) AR STARR < (4) qfaaa‘laﬁmﬂ 1 |
I al p wwmamEl
>t Tl b feTC TRt/ SPACE FOR ROUGH WORK age 16
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76. TREONH i @ ¥

76.  How many districts are there in Haryana ?
(1) 21 (m 21
) 22 2y 22
@) 23 (3) 23
4) 24 (1) 24
(5) I ¥ A

(5)  Not Attemptec

e <4 Jeen me (T3 73 30) % o= ! fmAferfian i 77. Consider the following statements in respect
] FR- HUH HE R 2 of National Security Guards (N2G) -
A TR T S W gene w3 (A) Operational Headquarter of NSG is in
Manesar.
B T «® o MR (B) NSG comes under the contral of Union
mﬁﬁﬁ:{—m/ﬁ?@ﬁﬂﬂ%/%? Ministry of Home Affairs.
(1) éﬁa(/\) Which of the above statements is/are
correct ?
AL (1) (&) only
@) (A R (B) A (2)  (B)only
@) F9 @A) RITA (B) (3)  Both (A) and (B)
(5) ST T = |

(4)  Neither (A) nor (B)

(5)  Not Attempted
78. T % fom WM ¥ yfug gwge A9 @ amee

sEm A T g2 78. In which month of the vear, the famous
1) = 21;:_‘;;;(;1;(1 mela is held every vear in
2 fegm=w (1) March
(3) SFHRSK (2) December
(4) w=d (3)  October
(5) T T EEA | (4)  February
(5) Not Attempted
79. HEIRd F1el A gfarn % fan farm vg @ sy fg
mE? 79. In the Mahabharata period, which term was
(1) e used for Haryana ?
(1) Haribanak
(@) g (2) Bahudhanyakya
(3) efEm (3) Hariyala
(4) EEEE (4)  Haryanak
(5) A AR 21 red | (5) Not Attempted
a5 Page 17
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80.

81.

82.

83.

ﬁl:ﬁ’. T WA fyman = 23 % fon ufgad 2
TEIR 0 90 ¥, s e ) f

2 : 5 faoma vaaE

(1) HT wEem
(2) = R
(3) 3™ SEeTy
R
(5) ST

ﬁwﬁf@aﬁﬁaﬁqzﬁwmmaﬂm,aqaﬁt
TS 1A 2

(1) &t st faw

(2) stsRU™

(3) & = = v
4) &t g=a Semen
(5) U E <A 9 |

T T3 FEasiel WEE e gra fea Sfor i
Y- § F9 F@ F og Fiaeie i s hnia
frm S g?

(1 2
(2) 3
3 4
4 S
(5) a-av?ﬁ‘&maﬁm

ffertad # 7 %7 | e wn & T g w?

@ A
@ FIL
@ TETE
(5) Al &

80.

81.

82.

83.

he ancient Heritage of pinjore,
are held every year. One is the
which is the secong

To promote t
two festivals 1 ev
Pinjore Heritage festival’,

one ?

(1) Orange festival
(2) Dates festival

(3) Mango festival
(4) Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vij

(2) Shree Kanwar Pal

(3) Shree Mool Chand Sharma
(4) Shree Dushyant Chautala
(5) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
1s to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

1y 2
2 3
B 4
4 S
(5)  Not Attempted

Which amongst the f S
; ollow
of Haryana ? OWIng is the State Tre

(1)

Banyan Tree

(2)  Sacreq Fig
) Mango Tyee
) Sal Tree

(5)

VYNATH/ G

Not Attempteq
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84. Frfafad woi w faem #ife -

(A) e gfer sgerer feow

B)  Fri & g sTerer feom ¥
SR AR/ A T @ YE)
(1) e (a) ‘

(2) &= (B)

@) (A) 3R (B) T

@ A7) R E ()

(5) W I < =R |

84. Consider the following statements :

Rohtak has a Police Commissionerate

located there.

(B) Sonipat has a Police Commissionerate
located there.

Which of the above statements is/are

correct ?

(1) (A only

(2) (B)only

(3) Both (A)and (B)

(4) Neither (A) nor (B)

(5) Not Attempted

(A)

85. foi o 2022-23 F for, efamon g 4 e &
foTe $a1 = 1 fofen wfter safeq fipr T 22 | 85, For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
(2) 6.2% towards Health in the Haryana State ?
3) 8.5% (1)  14.2%
4 5.8% (2) 6.2%
(5) W TRl 1 =9 | (38) 8.5%
@) 5.8%
86. frfafiad Heri 9 forem Fifg : 5] HetditiEmpten
) ?ﬂqﬁ I T {1 el o5 S TR 86. Consider the following statements :
®) ﬁ;ﬁ <1 g Feoeht @ T R Y (A) lSj(:{l}il}i).at and Jhajjar share border with
ST # ¥ HH-91/Q FUF E B/ g2 (B) Rohtak does not share border with Delhi.
(1) %ad (A) Which of the above statements is/are
correct ?
3. emp (1) (&) only
(3) (A) iR (B) 2 (2)  (B)only
(4) A (A) SIRAE (B) (3) Both (A) and (B)
(5) S E I AR (4)  Neither (A) nor (B)
(5) Not Attempted
g7. A fohg Tod & Siaria €2
' (1) ST 87. Neemrana comes under which State ?
2) e (1) Rajasthan
. (2) Haryana
(@) . T ) (3) Punjab
(4) SWES (4) Uttarakhand
(5) R & | (5) Not Attempted
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a Sabha seats does Haryana

88 How many R&)Y

3 ?
88. o o F o @ 0 fb e €7 1115;"6 .
(1) 8
2 7 2) 7
B) 6 3 ©
(4) 5 () 5 .
(5) S [ IR 5 Not Attempte
89.  Frefafia et w faar Fifm ; he following statements :
(A) - -: 898 COHSlderd; Zahib Gurudwara is situated in
T WIfEs TegwT S | © | (A) ,lzfnbala.
3(8‘4)%@ SR O S Nada Sahib Gurudwara is situated on
W aﬁq_m/ o T B/ ? & the bank of river Ghaggar.
o) :Taa (A) Which of the above statements is/are
2) (B) correct ?
B)  (A) 3ik (B) 3 (1) (A)only
(4  T@(A) sinad (2) (B)only
(B)
(5) =R (3) Both (A)and (B)
waf S : (4) Neither (A) nor (B)
| d
90.  fa fadt o i <t van foreate o 22 (5) NotAttempte
o eI 90. In which district is the Indian National
) Defence University located ?
(8) e , (1) Panchkula
(4) (2) Gurugram
S I el ‘ (3) Faridabad
) L , (4) Karnal

91. 3w st it Fwir e e e % fb 5 NabAtEmgtss

forer 2 91. Indira Gandhi Super Thermal Power Project
is situated in which district of Haryana ?

(1) =S
2 a t;; é bajj ar
irsa
(3) feur (3) Hisar
(4) i 4) Jind
5) I "TE?f Coll %ITE'% | (5) Not Attempted
9o, TR e forg @A ¥ fom oS €7 92. S;orxi*tn;a Chaudhary is well known for which
(1 ) _51@ (1)  Judo
(2) Kabaddi
(2) ia@ (3) Wrestling
(3) (4)  Archery
4) gﬁv\a‘lﬁ N (5)  Not Attempted
. | _—
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)3. Freferfaa H 9 fre sfmn =t MM A W IR A | 98, Who amongst the following did not play for

& Qe A1 ? Haryana in Ranji Trophy ?
(1) nfrex e (1)  Maninder Singh
@ Ffue 2a (2)  Kapil Dev
3) USEREIR| (3)  Rajinder Goel
@) TEFR AR (4)  Sarkar Talwar
5) W & 7 =T | (5) NotAttempted
g, T R o fa §7? 94. In which district is Narnaul situated ?
(1) 5 (1) Jind
@) S (2)  Kaithal
3) m : (3) Mahendragarh
@ AeaE (4) Rohtak
5) T Sl = (5) Not Attempted
05. fy=fafad d 9 gfemon H HE-4 T 3t RaE | 95.  Which of the following dance forms of Haryana

is associated with Mewati tribe ?

S =G § 2

(1) gHA (1) Dhamal

(2 W= (2) Ratvai

(3) M (3) Phag

(4) T (4) Gugga

(5) W & A1 91 | (5) Not Attempted

)6, TR TRIMRA’ % T i € 2 96. Who was the author of epic Mahabharata’?

(1) ™ (1) Magh

(2) e (2) Kalidas

(3) W AR (3) Maharishi Valmiki
(4) g qeard 4) Maharishi Vedvyasa
(5) G S <red | (5) NotAttempted

ne of the following is not amongst the
owing districts of Haryana ?

7. ﬁmﬁ@aﬁﬁaﬁqm#mmm 97. Whicho

major cotton gr

el # 9 T T8 €7 .
(1) faza (1) Slrs.a
HrHTad (2) Sonipat
: | 3) Ambala
o - 4) Rewari
5 ::R@Téﬁf &1 e | (5) Not Attempted
(5) °¢
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98,

99,

100.

Wm
mmg‘;ﬁﬁm (R 2y 2 e
(A) gﬁmvn :
Eaisi)
. i AR A T RS
Tq €t

s 3, N EHw i ha
@%ﬁﬁﬁq-m/ﬁwvﬁ%/%?
Q) Fam)
B) () s (B)
@) Ad(4) sk @ )
(5) W?’@[éﬁ'{a@l
‘i’ =i e § frg Te w e
(1)  Fg
(2) e
(3) <FTd
(4) TR
(5) S TR & T |
gﬁumﬁnﬁmaﬁmgaﬁmmm%m%ﬁ
gl S 6 2
(1) M
(2) Al
@ W
4 T
5 ﬁ-{q—é}émﬁﬁal

_.o0o0-

98.

99.

100.

Consider the following statements about Gross
Sgate Domestic product (GSDP) :
(A) GSDP of Haryana is more than that of

Bihar.

(B) GSDP of Punjab is more than that of
Haryana. |
Which of the above statements is/are

correct ?

(1) (A)only

(2) (B)only

(3) Both (A)and (B)

Neither (A) nor (B)
Not Attempted

(4)
(5)

‘Ottw’ barrage is on which river in Haryana ?

(1) Yamuna

(2) Sahiba

(3) Tangri

(4) Ghaggar

(5) NotAttempted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) Forehead

(3) Foot

(4) Nose

(5) NotAttempted
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